WINAM GROUP

SPORT

ASENNUSOHJE
MONTERINGSANSVISNING
INSTALLATION INSTRUCTION
AUFBAUANLEITUNG

NOTICE D’INSTALLATION

DATE: 21.4.2020

081657M

S@

& =

Wi @::Q S b
2

H 1
>
45\7 e q
) Q‘;V v} |
Ut :@ )
b
v

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

SPORT

081657M

DATE:  21.4.2020 PLAY 3
905800 |pcs 705040 |pcs| 705322—602|pcs| 705347—-602|pcs 707881 PCS 707882 |pcs
1 2 4 5 1 i 1
2260x600x1270 216x764 118x118x2500 118x118x1990 118x75 118x75
707883 |pcs 707884 |pcs 707885 |pcs 900240 |pcs 902195 |pcs 902232 |pcs
1 1 1 16 4 2
@\/
118x75 118x75 118x75 @8x70 150x50%x50 M10x55
902233 |pcs 902272 |pcs 980123 |pcs 903093 |pcs 905104 |pcs 905761 |pcs
2 3 144 12 16 9
,/
5~
=
M10x30 90x90x450 @7x60 @8x90 M10 120x120x700
980161 PCS 905817 |pcs 905830 |pcs 905838 |pcs 906006 |pcs 908017 |pcs
4 1 9 6 4 5
S
M10 2626x386x60 123x123x40 L 1060 264 /36,4x59 L 1585
908019 |pcs 908062 |pcs 909256 |pcs 980114 |pcs 909637 |pcs 909638 |pcs
172 20 12 24
(S| - <)
1500x1200 L 420 216/8.4 @4x20 M10 ©220/10.5
909639 |pcs 980104 |pcs PCS PCS PCS PCS
12 9
/
M10x25 @5x90
PCS PCS PCS PCS PCS PCS

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081657M

SPORT DATE:  21.4.2020

+ + + ¥ + + + + + + + + + + + + + + + + + + ¥ + + + + +

EN/AS +Impc;ct Arecf/ Area of movement 50.1 m2 T'+75
Crid size = 500, mm . . . . . . . ., S ..

o 0 3
o8 . e T
M
+ + + + + + + 7:7@ + + + + +
P A i+ j A
| |
)
| | ~
=
A O+ « o D N
| | | g
| |
. . + 8- . . . . . S . . . ! . . . ©y - . .
- ! } CP o
+ + + + + + + + + |+ + + + + + + +I.f¢) + + +
O
ﬁ
2380 1435 1695
9055

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 081657M

SPORT DATE:  21.4.2020 5

E— EN/AS Impact Area / Area of movement 50.5 m2
————— Training Space Area 20.2 m2 1:75
Max Falling Height 2530 mm 0 3

5600

2000

5715

6515

2000 O\

3070

2095

8015
9055

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP
SPORT

081657M

DATE:

21.4.2020

SA

270

+2640

2430

+2530

Z

1030
(DEEP)

+0

+2120

+2640

Deep

I:l\\_ +2030

Surface
@ @ +2530

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081657M —

SPORT DATE:  21.4.2020 PLAY 6

L
- gf
gu -~ gf %
Hh
g
W
L

[

L

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081657M Vou

SPORT =1 A TOWER A
DATE: 21.4.2020 | 7

<
<
<7
<
BASE
gj Qf | || DET 1—4 or 7—9
v
L . B
~ 7
A

908017
©)

5908062
- X2
(908017

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 081657M Vau
TOWER A

SPORT DATE:  21.4.2020 - N 7a

@ 1:50

~ +2500 ~ ~
~ +1990 +1990 | — 1
1 +1710
+1540
+800
o
(@]
+0 +0
N H Y3 B

+2500
_ _ —
+2120
] +1870 ]
u . = H H H =

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP
SPORT

081657M —
. TOWER B

DATE:  21.4.2020 - \( 7b

BASE
DET 1—4 or 7-9

|
]

905817 )
{\\ /,.

BASE
DET 37-39

905830

PARTS

(908017
=\ x3

L

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 081657M

&5 TOWERB
SPORT DATE:  21.4.2020 PLAY 7c
@ 1:50
o _ +2500 B
E E 0 +1910
qp
] 1 +0 [ +0

500

400

E'w

—r——— (1)

+0

+2240

+0

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP 081657M

SPORT

DATE:

':

TOWERC

21.4.2020 PLAY 7d

BASE
DET 1—-4 or 7-9

R

s
T

PARTS
DET 1

905838\
x5

9058830
§

PARTS

DET 16

L

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




-
WINAM GROUP 081657M ';
TOWER C

SPORT DATE:  21.4.2020 PLAY 7Te

@ 1: 50

+1990

100

+0 Q{ Qy

+1990
] B +1810
|

+1410

+1010

+610
+480

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP 081657M Vou

SPORT DATE:  21.4.2020 - N 8

Max falling height

905800}
\

PARTS
DET 48

0

K
\‘IA

s
|l

L

N
A\

JL
N
[ I

/
an

Ui

) — =——_' -\

U v )~ W v S o W -‘\I
LJ
'-

~
(@]
~
[0.4]
(04]
N
.-
s

707882

PARTS

DET 48
—~
1l 707881

PARTS

5
&)
i
2
g
@ / 2
BASE ¥
DET 5, 59
OR
DET 37—39

% N
e
LS

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



- WINAM GROUP

N REF:
Impact Area EN 1176 DATE:  20.2.2018

]

]

h <600

Without movement
and therefore
without Impact Area

Totally hard surfaces.

Note. Lappset does not recommend
totally hard surfaces at all.

E.g. concrete or asphalt

h <600

With movement
e.g. rocking

Materials with very limited
impact attenuating
properties.

E.g. wood
U 1Y Dl 1Y M

h <1000

Materials with significant
impact attenuating
properties.

fine gravel 0—8 mm

T3 Y 44 P . %4 a4 a

@QAEA*qEA S5t e e 10 <4
944 42 C 2 Jaga
A RN 44. . a4 a4

grass
4 < 4 qa 5

Note. For accurate values, see
manufacturer’'s instructions.

W“mi%
h <3000 Loose fill material
E.g. Doee 0T
sand/gravel 0,25...8 mm D60/D10<3,0 | = Lot ¢
Woodchips 5...30 mm i e ae O l. o,
bark 20...80 mm <% . ) “
e L S SR S R R
S h
30 cm < 2,0 m
40 cm < 3,0 m
Syntethic granulates ’—‘
S h
40 mm ~> 1,2..1,3 m S
50 mm ~> 1,5...1,7 m S A L AL /?/j‘
60 mm ~> 1,8..2,0 m :::*:7:*:::::::::::::::
70 mm ~> 2,1..2.5 m e B LB

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text

lg_nh
Typewritten Text


A
WINAM GROUP T

REF: ~
EN 1176 FOUNDATION REF: a0 PLAY

REMOVE SAFETY SURFACE/SAND/GRAVEL
TO CHECK FOUNDATION

REMOVE SAFETY SURFACE /SAND /GRAVEL
TO CHECK FOUNDATION

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PAYL

SPORT DATE: 8.12.2016 1(10)
DET 1 DET 2
V16 1 > 150 .
9| {O——1 7
: 5 g e 120 Nm
s @ . M16x170
o [[O]] ] = '
= . ] x : Go o
2 S So ) - d% o°
T i 9°),9°8ge 9°Bge 97 9" dege
N RS S S 55 S S R R 5
905/380 / 160 Concrete / Betoni K30
DET 3 DET 4
)/ x60
(980123)
M10
(905104) 716 /8.4
(909256)
905/80
DET 5 DET 6
N n N
l 540 l 64%
@)
N O
O
I | E R I
K4 % .oo égjooooooo.. OOOSOS o9 Oé | rrr
2 g 1 oQ __Q A v
P rrrrrrrrzrrrrrrnr
CONCRETE 300x300x1500




h

WINAM GROUP BASE (.

SPORT DATE: 2.11.2018 — LA 2(10)
DET 7 @8x400 (x2) DET 8
A 500 HW
\/
A
)
O
O o g / o0, —
IR - M 10
N 0% 0| Jro 0% i (905104) e e
OS98I0 08 0808 08 08 0 % e
905761 S
_000x000 | —_—
Concrete / Betoni K30 ——
DET 9 DET 10 28x400 (x4)
@7><6O A 500 HW
\/ |
(980123) T
mi
@fi %@ o o°f]i° E o,gc«fooo 8
9 N Sl [ B e ©
716 /8.4 U Op e ] wghe| g
(509256 = TS S DR800 008 808 08 08 8 7%
300x500 |
. Concrete / Betoni K30
DET 11 DET 12
~
&L &
57x60 >
(980123)
M10
(905104)_ g 216 /8.4
’ (909256)
v U
S N

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP BASE U~

SPORT DATE: 29.42015 /A" 3(10)
DET 13 DET 14
716 L > 130
[ o ) O
o o e ° 1P 120 Nm
S o)X I A m M16x1/0
O
2 | [O]O] | | 2zl
s 2 — olo— s @oo 05 ° 00@ : d°ge
© O °n ge )
/ O rogger OTgO”° OO Q °oc°
90600/ L 230 J R I FTFTT
Concrete / Betoni K30
DET 15 DET 16
s ™
7 DR
3 07x60 > ® .
2 (980123)
(905104)
By
216 /8.4 \
(909256)
906557/
DET 17 DET 18

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



A

WINAM GROUP BASE
SPORT DATE: 29.4.2015 — LA 4(10)
DET 20
410V 90
(4x)
O
i
A
SO TSRS ISR
Betoni /
Concrete
Safety surface
DET 22
aﬁ;::ﬁs
-
O
O )
v €
ol L~
S — -
ﬁ%( = = i
N A
830
DET 23
90227/2
P
L= MT1Ox25
= & = (909659)
“Je © ° - 909519
! @2@/%}5
572\ (909638) 9 ©
1 g MIO y
i (909637) M10 N ©20/10.5
902272 (909637) ™ ® (909638)

WinAm Groubp / plavaround.com.vn / info@plavaround.com.vn - (028) 22 494 333




WINAM GROUP

BASE

s

SPORT DATE: 29.4.2015 — LA\ 5(10)
DET 25 ~- |DET 26
Esireikad Pre—drill hole.
705412 /
210 1 90
55 Nm
) <« M 0x100
Ook K o
905743 - : - BN ;P°$o
e Betoni / Concrete K30. O
MO _— e i S
afety surface A
DET 27 DET 28
/05096
//////E 906140
905745
M10x100 H TNl L e .
(909628)
DET 2 Esireikd / Pre—drill hole. DET 30
@10 1 90
.35 Nm
/Q
<« M10x10Q
%
I
ook . o 0f w00 op oo onf 0o 0° o oo oc
P oot Vo f-"kaé’-" o or o° u'f’-" o2 o p.g:’ og.ﬂ clwo:’ %) )
\ Betoni / Concrete KJ30. =
Safety surface A

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP BASE s
SPORT DATE: 29.4.2015 — LA 6(10)
DET 31 DET 32

M10x25
/(909639)
- ] Il
@ H
\VA 7 ?} v 7‘)_
= N ]
DS\ 0N 0
IS 220,/10.5
(909637) (909638)
DET 33 DET 34
906644
MIZ 2y 906645
(909248) s
M10x30
524 /13 G g (00829)
(980154) e 320,/10.5
‘ = (909638)
& © ® M10
MT2x40 ﬁ G ® |g—" (909637)
(909109) & 9022772
005299
DET 35
‘ 902272
ﬁ%? it M10x25
= |o (909639)
< s 220/10.5
(909638)
909519
- M10
o ©__— (909637)
s @ Y ez

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP BASE

SPORT DATE: 29.4.2015 — LA 7(10)
DET 37 DET 38
K107 >90
1
A BN
\\\\ RSN N 4 N
N
N\, Ny %) O
o|®¢ Qs Qs oc A O
= O ) Qs o © @) O
ol% e Hhe s
<Qs Bo: 8% Hosge 1 —O O
% 905817 _~— —
Betoni
MTOXTOC Concrete 906014
DET 39 DET 40
/025542
909628 @ |®| @
MTOx100
(909628)
DET 41 DET 42
Esireika / Pre—drill hole.
10 L 90 >, 35 Nm
A
<« MIT0Ox100
%)
\V4 N\ v
\:\\"O o :’-"OF : Oo o <o || N .,0 T 5"’5 3?01 fo <
o o ﬁ\ o' o s o o ﬂ. or |98
\ Betoni / Concrete K30. =
Safety surface A

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




.

WINAM GROUP BASE
SPORT DATE:  15.8.2017 ':’I_'/\ S
DET 43 e
T 904064 .
S_r= @QO/W 05 |
e Lﬂ

(909638)

O
o 7
o
909519
ﬁﬁﬁﬁé////////T“%WBU 7
DET 45 -
7107 >90

W\
1] o 3
23 z o ///%
M10x100 \gfﬁﬁ&e
. DET 48
216/8.4
M0
(980150)
905112 320 /10.5
(909638) 909519
M10x100 -
1 (909628

(909639)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP

BASE

e

SPORT DATE: 29.42015 — /A" 9(10)
DET 49 DET 50
O
O
O )
v | NN N\
| - NN N
ST [ ol v gl e o IR S
B O ’ 2| e e P, % Ul Rigg @
§7 = = ﬁ 1 Qs Q¢ OOOEO: Ocs Qe O
[ SN DN N °. °. ee OO/A\ROZD: i
830 M10x100 /  \“Getiee
DET 51 DET 52
V107 >90
S
—O O
> O
7 Y
909628
906731 90
DET 53 DET 54 906/29
- M10%x25
- . (909639) \
¢20/10.5 /s
N o~ (909638) AR
NN !E
290
909519

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




WINAM GROUP BASE ’
SPORT DATE: 29.4.2015 LA 10(10)
DET 55
STEELNET @6 #150 NoTe
(1400x2100) Hox
Concrete

1500X2200X200 K30

<

O
. 0
é c 0 Bﬂg BD

O

u e
o

b
R

ST IS

T~ TS 7

ValaYala

DET 56

DET 57
906 /20

MT10Ox25
(909639)

Adjust

320/10.5

NSRS =

(909638)

N S /Y S/ A/ A/
M10
(909637)
DET 58 DET 59

Esireika
Pre—drill hole. ~

»10 J 90

MT10Ox100 O

35 Nm |

---nwzg N

\ Betoni / Concrete

Safety surface

~__ 9022/7

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP PARTS "
SPORT DATE: 26.8.2015 — /A" 1(10)
DET 1 DET 2
716 /8.4
Q 716 /8.4
IRy (909256) \
: N B
DIX60 i }j
(980123) i

«

. 905934

e e 216 /8.4
0 L M8 «
70502 4(—xxx) jg;w&gjfsd (909633) (909256)

M8 SCrews N 905956
(909633) —© (901899) ¢ i' M8x35
216 /8.4 / : / T Jm

909256 > 'f two—sided
< > /M o use M8x45

%
M8x35 SCrews

(909855) el ¢(901899)
Acryl+sticker @’//

DET 5 216 /8.4 DET 6
e TXE0 316 /8.4
(980123) (909256)
07x60 -
(980123) 906009

-

&

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP PARTS '
SPORT DATE: 26.8.2015 I /A" 2(10)
DET 7/ DET 8 @24/W3
M8 724 /8.4 SELIET
(909633) (980152) @ ( )
MT2XT140
e ] (9092486)
i M8x 30
(909852) 905105
.
DET 9 DET 10
/05049
716 /8.4
(909256)
7X60 . o8 d
(98@&237\\\T?/® /-
/ [ [T——1—_ 27x60
906114 / (980123)
@ e I /05397
DET 11 DET 12
N
0/ x60
705397 (980W23>
& 216 /8.4 | B[
= TN
M10 ollo | (909256)
(905104) =@
@ /053597

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




N
WINAM GROUP PARTS 'y
SPORT DATE: 26.8.2015 — LA 3(10)

DET 13 DET 14

O
216 /8.4 0
(909256)

@0/x60
(980123)

DET 15 DET 16
ox90
8X100 M
(509233) (980104)
332 /13.5 e 905830
(909253)
Place the logo laterall
M12 @24 /8.4
(902234)\ “ (909505)
DET 17 DET 18
Joxdu J %958%?84)
(980104 ) P
905830 905850

Place the logo laterdll

Place the logo laterall

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP PARTS '
SPORT

DATE:
DET 19 = <

26.8.2015 — /AT 4(10)
S DET 20

%-'lﬂ\\\ M10x40

: (901487)

M10x35

(902252)
220,/10.5x2 19x21x25
(901302)

(903193)
MIT0 ©20/10.5x2
M10
(909637)
DET 22
DET 21

@ 705433
N 705434
Rad / 38x70
Huovioson sifitus (903193) (900240)
=%
=
DET 23 DET 24
032 716 /8.4

(980151)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



PARTS 1

WINAM GROUP
SPORT DATE: 26.8.2015 LAY 5(10)
DET 25 /3y 25 DET 26
(909850) ~ 1 216/8.4
- U (909256)
24 /8.4 S A7%60
(980152) (980123)
M8 -
(980160)\ | = /00459
NS ] 27x60
Ny b (980123)
DET 27 DET 28
716 /8.4
(909256)
9U6o// ) §;;> @7x60 <;;;;> e
. (980123) ™ ¢5 ?§
Z5X60
15% 35 (980100)
980129 )
( ) v &
DET 29 DET 30
MB8x 30 <
902195
10x 30 (909852)
, 90611/
(902233)
@24 /8.4
ﬁ\\\\\E 3 (980152)
. 8
M10 5 %
— a/f%\\ s
MTOx55 J/x00
980123 v
906006 (902232) ( ) 716/8.4
(909256)

WinAm Groupn / nlavaround com vn / info@olavaround com vn - (028) 22 494 333



A
WINAM GROUP PARTS
SPORT DATE: 24.6.2020 — LA 6(10)
DET 31 DET 32
/
M8x 40 7= €
216 /8.4 [309573)
(909256) égg??
B7%60 52 <
(980123) =3
716 /8.4
705467 M& (909256)
(909633)
DET 33
716 /8.4
(909256 )
27 x60 lg

(980123) e MAY|

/05505

THE WATER HOLE J

DET 35

K8x60
« (906630)

== 705520
;\\\
8) THE WATER HOLE

DET 36

9060657/

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




PARTS 'y

WINAM GROUP
SPORT DATE: 26.8.2015  =/\"7" T7(10)
DET 37 DET 38
N
N0
@7x60 /
/05568 (980123)
< ("l 216 /8.4
M10 i (309256)
(905104) @ || g |&
&
/05568
DET 39 DET 40
906613
—" —
g . s
g /N \
A T8 | O | '
i | N J g7x60 7 | o
. (980123)
9066135 & — L V16 8.4
(909256)
DET 41 DET 42
MexAn M0 M1 0x55
(980161) (802232)

(909873) \
/05585

(909256)
ME

(980160)

M10Ox 350
(902233)

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




C,

WINAM GROUP PARTS
SPORT DATE: 26.8.2015 © —/\"7 8(10)
DET 43 DET 44
Woxo60
2560 (980100)
(980100) \
£/
006583/ /7
/05406
DET 45 DET 46
860 S
906630 I~ ~
P ” / <$§§§§§
)
< |
/05098 L=
906147 g TTTIT]

NYEREE
O/x40 -

(980128)
DET 47 \/ DET 48
Jox40 38%x70 /050587
(980102) oo (900240)
I
906148 = 905800 Q) &
=N “ 257 60
< > = Y a/’ <X2>
Huom!
Fsireika
Note:
Pre—drilled
(980106) hole.

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




A
WINAM GROUP PARTS 'h..f
SPORT DATE: 26.8.2015 — -/ 9(10)
. <%§;§> [Z?;OQO e
(905112) (906767 (980160) 18y 45

(901899)

(980150)
316 /8.4
(980151)
MEx /0
(909267)
DET 51 M1 0% 30 V10%55 DET 52 @W6/804
902273 @322 (980151)
(905WW2>
MEx6H0
J57 <909097)
<905085>
P ) @
M8 B
902195 @
! M10 o
DET 53 DET 54

216 /8.4
909256)
VEx90

(
(

903093)
908019

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP PARTS

SPORT DATE: 26.8.2015 — /A" 10(10)
DET 55 DET 56
® )
[ | o
e Wox60
[ ) (980131)
[ |
I ]$ 906632
( I 9060652
T @ H
DET 57 DET 58
DET 59 DET 60

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP pRrobucT SIGN

SPORT DATE: 22.8.2017
118x78x0.7 @4x20
/]
G
— 1
R
J
Example installation ! Example installation !
Esimerkki asennus ! Esimerkki asennus !

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333



WINAM GROUP  propucT SIGN
SPORT DATE:  22.8.2017 2(2)

I
I

Example installation !
Esimerkki asennus !

™ ] ™ ]
mstallation ! Q
asennus ! _

Example
Esimerkk

50
|

[J(e]0r]

50

1650

g

1650

Example installation !
Esimerkki asennus !

WinAm Group / playground.com.vn / info@playground.com.vn - (028) 22 494 333




11.5.2017

LAPPs

gy ot
ity Mﬂnvmxm

o

123 po
S oy
Tiergy ,;“*"

o
Nz

LAp
g&llgie F:?s ET Groy
F'NLAI\TE?VAN'EW

123456

W4 py
F567g9

Tuotekyltti tulee tuotteen mukana yhdella seuraavista tavoista:

1) Metallinen tuotekyltti ja kiinnitysruuvit

- Kiinnita tuotekyltti ruuveilla tolppaan noin 2 metrin korkeuteen kuvan 2 mukaisesti.

2) Tuotekylttitarra

- Puhdista maalattu metalli- tai vaneripinta pdlysta ja kosteudesta. Liimaa tarra kuvan 3 mukaisesti.

- Huom. Al3 kiinnita tarraa karheapintaiseen laminaattiin tai maalattuun puuhun.

Var produktmarkning levereras pa ett av féljande satt:

1) Produktskylt i metall
- Fast skylten med de medféljande skruvarna

2) Sjalvhaftande produktetikett

-Rengérdenpulverlackerademetallytanellerlaminatytansaattdenblirfrifransmutsochfukt. Fastetikettenenligtfig. 3.
- Obs! Fast ej etiketten pa detaljer med skrovlig yta eller pa malat tra.

Product label is delivered by one of following ways:

1) Metal product label and screws
- Fasten the label with screws.

2) Label sticker

-Cleanthepaintedmetalorplywoodsurfacefromdirtandmoisture.Fastenthestickerasshowninthefigure3.

- Note. Do not attach the sticker to rough surfaced laminate or painted wood.

La plaque d’informations produit est livrée sous I'une de ces 3 formes :

1) Plaque métallique et vis
- Fixez la plaque a l'aide des vis.

2) Etiquette autocollante

- Avant de coller I'étiquette, nettoyez le composant métallique peint ou la plaque de contreplaqué, de toute saleté. La surface

doit étre séche (voir image 3).

- Attention, ne pas coller I'étiquette sur une surface lamellé-collée irréguliére ou sur du bois peint.

Die Auslieferung des Produktaufklebers erfolgt auf eine dieser Arten:

1) Produkt-Schild aus Metall incl. Schrauben

- Die Befestigung des Schildes erfolgt mittels der Schrauben.

2) Aufkleber

-EntfernenSiezunachstSchmutzundFeuchtigkeitvomlackiertenMetallbzw.vonderHolzoberflacheundbringenSieden

Aufkleber wie im Bild oben rechts beschrieben auf den gesauberten Untergrund auf.

- Beachten Sie: Bringen Sie den Aufkleber nicht auf raues laminiertes oder lackiertes Holz an.





